THE EFFECT OF CORPORATE GOVERNANCE ON THE HEALTH OF SHARIA BANKS WITH DYNAMIC MODELS

by Zulpahmi Zulpahmi

Submission date: 23-Jun-2020 11:18PM (UTC+0700)

Submission ID: 1348626693

File name: GOVERNANCE ON THE HEALTH OF SHARIA BANKS WITH DYNAMIC MODELS.pdf

(372.51K)

Word count: 7631

Character count: 40634

INTERNATIONAL JOURNAL OF CREATIVE RESEARCH AND STUDIES

www.ijcrs.org ISSN-0249-4655

THE EFFECT OF CORPORATE GOVERNANCE ON THE HEALTH OF SHARIA BANKS WITH DYNAMIC MODELS

Zulpahmi, Yuswar Z. Basri, Koesmawan University of Trisakti

ABS TRACT

The purpose of this study is to examine the effect of corporate 74 vernance on the level of health of Islamic commercial banks with a dynamic model. The population used is Islamic commercial banks in Indonesia with a total sample of 11 Islamic commercial banks. This research data is in the form of secondary data sourced from the financial statements of Islamic banks and financial services authorities and data processing using the Vector Autoregression (VAR) method. The results showed that corporate governance (number of members, frequency of meetings and remuneration) affected the health level of Islamic commercial banks and the health level of Islamic commercial banks affected the number of members of corporate governance, and corporate governance affected corporate governance.

Keywords: Corporate Governance, Sharia Bank Health Level

INTRODUCTION

Since the issuance of anking Law No. 7 of 1992 concerning licensing of banking operations using sharia principles until the issuance of Law No. 21 of 2008 concerning Islamic banking which regulates institutional and operational aspects, the de paper of the Indonesian sharia banking industry currently has 13 SCB, 21 UUS, and 167 BPRS and is listed as one of the top 10 countries with the largest sharia banking assets in the world, with total assets sharia banking reached Rp435.02 trillion or US \$ 26 billion in 2017. Seen the soundness of sharia banking, especially sharia banks where the development of sharia bank health levels at the end of 2017 the number of banks with a "Healthy" rating of 5 (five) SCB or by 39%, the number of banks with a rating of "Fairly Sound" is 6 (six) BUS or 46%, and the number of banks with a rating of "Poor" is as much as 2 (two) BUS or 15%. (Financial Services Authority, 2017).

To maintain 21d improve the health of Islamic banks requires good corporate governance because good corporate 73 vernance is an important factor in maintaining and maintaining the trust and confidence of stakeholders. Corporate 23 ernance is a control mechanism to regulate and manage companies with a view to increasing the company's prosperity and accountability, the ultimate goal of which is 17 ealize shareholder value (Monk and Minow, 2001). The development of corporate governance is based on agency theory, stewardship theory and stakeholder the 188 where the theory is based on conflicts that arise between the principal as the trustee and the agent as the trustee. Corporate governance in Islamic commercial banks consisting of the Board of Commissioners, the Board of Directors and the Sharia Supervisory Board must adhere to the pillars of corporate governance, namely the attitude of trustworthiness that is responsible, trustworthy and not breaking promises containe 65 the surah of Al Mu'minun paragraph 8 "And those who keep their mandates and promises" (QS AI-Mu'minun: 8).

The role of the Board of Commissioners in the mechanism of corporate governance is collectively responsible for conducting supervision, and giving advice to the Directors and ensuring that the company implements good governance. Much research has been done on the size of the Board of Commissioners in the corporate governance mechanism. Research conducted by Shazad et al (2015), Ahmad, Tariq, Hamad, & Samad (2014), Rehman & Shah (2013), Muttakin and Ullah (2012), Agains and Mehran (2012), Hoque, Islam and Ahmed (2012), Ibrahim and Samad (2011), Ali Muktiyanto (2011), again and Mehran (2012), Hoque, Islam and Ahmed (2012), Ibrahim and Samad (2013), Ali Muktiyanto (2011), again are esearch conducted by Agustina, M and Christiawan, YJ (2015), mana et al (2013), Purno and Khafid (2013) stated that the research of Uwuigbe and Fakile (2012), and Cornett et al. (2009) that there is a negative relationship between board size and company performance.

The second element in the corporate governance structure is the Board of Directors. The Board of Directors of a bank is fully responsible for the implementation of bank operations and has collective responsibility in managing the bank to generate a 22 cd value for the company. The aresults of the research of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the same of Savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and it is in a company in the savera Helena and Muhammad and Muhammad and it is in a company in the savera Helena and Muhammad and Muhammad and it is in a company in the savera Helena and Muhammad and Muhammad and it is in a company in the savera Helena and Muhammad and Muhammad and Muhammad and it is in a company in the savera Helena and Muhammad and Muham

The Effect of Corporate Governance on the Health of Sharia Banks ... The Sharia Supervisory Board has the duty to provide advice and advice to the Directors and oversee the activities of the company or sharia units of the company to comply with sharia principles. Yusvita Nena Arinta's research (2018) shows that the size of the sharia supervisory board has a significant positive effect on tax avoidance. Research conducted by Kusuma & Ayumardani (2016) shows the size of the sharia supergroup board increases the efficiency of corporate governance so as to improve company performance. Research by Mollah and Zaman (2015) found that the number of sharia supervisory (2013) and (2015) had a significant positive effect on ROIAE. According to Rahman and Bukhair (2013) the greater the number of members of the Shariah supervisory board (SSB), the more effective monitoring and consistency sharia principles will be. Whereas Endraswati (2017) revealed that the number of Sharia Supervisory Boards did not have a significant positive effect on the quality of contain that the number of sharia supervisory board members had no effect on ISR disclosure.

According to the Financial Services Authority Regulation (POJK) Number 33 / POJK.04 / 2014 in carrying out their duties and responsibilities, Commissioners, Directors, and Sharia Supervisory Board are required to hold ular meetings at least once every month. The results of research by Ntim et al. (2011) states the frequency of the commissioners meetings has a positive effect on the value of the company. Chen and Zhou (2006) state that the frequency of board meetings reduces the likelihood of fraud, Cotter & Silvester, (2003) states that board of commissioners monitoring is a function of supervision measured not only by the composition of the board, but also from the frequency of meetings conducted by the commissioners. However, it is different from the results of research conducted by Yusvita Nena Arinta (2018) that the number of board of commissioners' meetings has no significant effect on tax avoidance. Tay results of Dung To Thi (2011) research also stated that the number of 12 Incil meeting frequencies did not have a significant effect on Tobin's 27 Al-Najjar's research results (2011) showed that the size of the board of commissioners had a negative effect on the frequency of board meetings.

The results of the study of Johl, Kaur and Cooper (2015) concluded that the sectors' meeting had an effect on performance. Bulan and Yuyetta (2014) said that the directors' meeting had a positive sector on capital structure. The research conducted by Khajananthan (2012) found that the structure is research conducted by Yusvita Nena Arinta (2018) states that the number of sharia supervisory board meetings has rignificant positive effect on tax avoidance. Endraswati (2017) revealed that the number of sharia supervisory board meetings had a significant positive effect on the quality of company disclosure reports. Bukair (2014) examined at Islamic Banks in Malaysia in 2008 that the more frequent meetings, the supervisory function performed by DPS in relation to Shariah compliance and disclosure quality would be better. While the results of Tulus's research (2014) found that the activities of the sharia supervisory board negatively affected earnings management actions on sharia breeding and Rahay 44 nd Cahyati's research (2014) also showed the result that the number of sharia supervisory board meetings had a negative effect on CSR disclosure.

According to POJK No. 45 of 2015 Remuneration is a reward determined and given to members of the Board of Directors, members of the Board of Commissioners, members of DPS, and / or employees who are permanent or variable in cash or non-cash in accordance with their duties, authorities and responsibilities. The remuneration is expected to increase productivity and discipline and change the work culture for the better.

Utami research results (2017) that performance affects the compensation of the boat of commissioners as measured by accounting performance (earnings). Ali Farhat's research (2014) produced a positive relationship between accounting performance as measured by returns on assets. In addition, research by Gul et al (2012) and appropriate the company performance as measured by returns on assets. In addition, research by Gul et al (2012) and appropriate the company of the board can minimize agency costs. Adithipyangkul et.al. (2009) states that the remuneration provided by a company will affect the company's performance.

Ruparelia and Njuguna (2016) stated that giving a large remuneration to a healthy company would make the directors' performance increase. Khalid and Rehmar 1014), and Awuor (2012), found that remuneration had an impact on increasing company performance. This is different from the results of research conducted by Bulan and Yuyetta (2014) who found that remuneration of directors had no effect on capital structure. According to T and Utami (2013) remuneration that is too high can damage the company's financial and performance. Research Sheikh and Wang (2012), that there is a negative relationship between remuneration of directors to the total debt rate of Abdullah's research (2006) which states that the company's performance variable as measured by ROA is not an important factor in providing lirectors' remuneration. Likewise, research conducted by Kakabadse et al. (2004) provide the fact that there is no relationship between remuneration and company performance.



Based on the review of the above problems, in this study, we want to examine the effect of proporate governance on the health level of Islamic commercial banks with a dynamic model that is testing the effect of corporate governance on the health level of Islamic commercial banks and instead examine the effect of the health level of Islamic commercial banks on corporate governance and examine the effect of corporate governance variable.

II. LITERATURE REVIEW

Tawhidi String Relations (TSR)

Tawhidi String Relations (TSR) is a methodology that formulates Divine Laws to be applied to all aspects of life in the world. Therefore, Tawheed epistemology plays an important role in shaping and urgirstanding the philosophy of TSR methodology. TSR is methodology.

17

Agency Theory, Stewardship Theory and Stake polder Theory

This agency theory is a theory introduced and developed by Jensen and Meckling (1976) that defines agency relationships as contracts on the one hand as owners or shareholders who bind the other party as agents or directors to carry out services for the benefit of shareholders. According to Stewardship theory that managers are good company administrators who work diligently to achieve the highest level of profit for the company and shareholders. Managers have the motivation to achieve and be responsible, proving the need for manager responsibility, working independently, the organization will be better served freely than submitting to prize who are not directors but controlled by directors (Turnbull, 1997). According to Stakeholder's theory that the company is a system of stakeholder operations under a larger system of social serves that provides legal requirements and market infrastructure for the company's activities. The company's goal is to create prosperity and value for its stakeholders by converting their shares into goods and services. (Turnbull, 1997).

The Corporate Governance of Sharia Banks

According to Bhatti and Bhatti (2009) Islamic Corporate Governance considers the effects of sharia law and Islamic economic and financial pri 60 ples on practices and policies, for example on zakat institutions, prohibiting speculation, and developing an economic system based 59 profit sharing. The principles of corporate governance in Islam include Shiddiq. 28 nanah, Tablig and Fathanah. The role of the Board of Commissioners in the mechanism of corporate governance is collectively responsible for conducting supervision, and giving advice to the Directors densuring that the company implements good governance. The board of commissioners shall consist of at least 2 (two) members of the board of commissioners, 1 (one) of whom are independent c 48 missioners who constitute at least 30% (thirty percent) of the total members of the board of commissioners. (Financial Services Authority Regulation No. 33 / POJK.04 / 2014). The Word of God which explains the importance of supervision in surah Al-Mujadalah:

It means: "Did you not notice that Allah knows what is in the heavens and the earth? there is no secret conversation between three people, but He is the fourth. and there are no (talks between) five people, but He is the sixth. And there is no talk of less or more, but He is with them wherever they are. then He will tell them on the Day of Judgment what they have done. Surely Allah knows everything." (Q.S. Al-Mujadalah: 7).



The Board of Directors of a bank is 33 ly responsible for the implementation of bers operations and has collective responsibility in managing the bank to generate added value for the company. The number of members of the Board

of Directors must be quested to the complexity of the company while taking into account effectiveness in decision making consisting of at least 2 (two) members of the board of directors (Financial Services Authority Regulation No. 33 / POJK.04 / 2014). The attitude of responsibility carried out by the board of directors as stated by Allah SWT in Surah Muddatsir:

"Each self is responsible for what he has done" (QS. Muddatsir: 38).

The Sharia Supervisory Board 16 s the duty to provide advice and advice to the Direct 55 s and oversee the activities of the company or sharia unit of the company to comply with sharia principles. The Sharia 34 ervisory Board has at least 2 (two) members and at most half of the directors (SEOJK No. 10 / SEOJK .03 / 2014). In terms of monitoring compliance with sharia principles, according to the word of Allah SWT in surah An-Nisa:

"O you who believe, obey Allah and obey the Messenger of Him, and Ulil Amri among you. Then if you have different opinions about something, then return it to Allah (the Qur'an) and the Rasul (his sunnah), if you truly believe in Allah and later days. That is more important (for you) and the consequences are better" (QS. An-Nisa: 59).

According to POJK No. 45 of 2015 Remuneration is a reward determined and given to members of the Board of Directors, members of the B₆₈ d of Commissioners, members of DPS, and / or employees who are permanent or variable in cash or non- cash in accordance with their duties, authorities and responsibilities. The Word of God that explains the rewards of a work in the Surah At-Taubah:

And Say: "Work ye, then Allah and His Messenger and the believers will see your work, and you will be returned to (Allah) who knows the unseen and the real, then he tells you what you have do it. (Q.S At-Taubah: 105)

Bank Health evel

Based 67 he Financial Services Authority Circular No. 10 / SEOJK.03 / 2014, the bank's health assessment method with a Risk 52 sed Bank Rating risk approach is a method of assessing the soundness of a bank that 10 a method based on 4 (four) factors, namely: Risk Profile, Good Corporate Governance, Earning, and Capital. According to the Financial Services Authority Regulation (OJK) No.8 / POJK.03 / 2014 the composite rating is the final rating of the bank's soundness rating. Composite Rating 1 reflects the condition of banks that are generally "very healthy" so that they are considered to be able to face significant negative effects from changes in business conditions and other external factors. Composite Rating 2 reflects the condition of banks that are generally "healthy" so that they are considered capable of facing significant negative effects from changes in business conditions and other external factors. Composite Rating 3 flects the condition of banks that are generally "quite" healthy so that they are considered capable enough to face significant negative effects from changes in business conditions and other external factors. Composite Rating 4 reflects the condition of banks that are generally "less healthy" so that they are considered less able to face significant negative effects from changes in business conditions and other external factors.

III. METHODOLOGY

The population of this study is 13 Islamic banks in the form of Islamic commercial banks (BUS). The method used in determining the sample with judgment sampling technique to the criteria taken is the Islamic commercial bank (BUS) which was established in the period 2010-2018. The data used in this study all use secondary data to the form of financial reports and annual reports for all Sharia Commercial Banks in Indonesia and obtained from Bank Indonesia and the Financial Services Authority. Quantitative data used are the number of members (board of

commissioners, board of directors, sharia supervisory board), frequency of meetings (board of commissioners, board of directors, sharia supervisory board). The level of health of an Islamic bank is measured by the risk-based bank rating (RBBR) method by considering the risk profile, GCG implementation, profitability and capital. This study uses the Vector Autoregressive (VAR) analysis method to determine the dynamic influence between variables. There are several steps that must be done in using this method, namely conducting a stationary test of each time series data used in the model. The test results will determine the use of the VAR model type. If the test results show stationary data, then the standard VAR model will be used and if the data is not stationary then the VAR model will be used in the form of difference or Vector Error Correction Model (VECM) if there are cointegration or long-term relationships.

IV. RESULTS AND DISCUSSION

Corporate Governance Towards the Health Level of Sharia Commercial Banks

to analyze the effect of corporate governance on the health level of Islamic banks can be seen in the table:

Table 1: Estimation of the VAR Model DY Equation (SCB Health Level)

	Coefficient	Std. Error	t-Statistic	Prob.
C(1)	0.553725	0.247246	2.239.568	0.0419
C(2)	-0.365187	0.166392	-2.194.736	0.0455
C(3)	0.065615	0.195384	0.335825	0.7420
C(4)	1.549.288	0.299210	5.177.932	0.0001
C(5)	-6.611.489	3.260.195	-2.027.943	0.0620
C(6)	1.082.970	2.279.439	0.475104	0.6420
C(7)	-2.783.181	2.623.585	-1.060.831	0.3067
C(8)	-2.009.510	2.171.490	-0.925406	0.3704
C(9)	-1.138.342	0.815196	-1.396.403	0.1843
C(10)	-0.473283	0.919119	-0.514931	0.6146
C(11)	-1.575.575	0.810276	-1.944.491	0.0722
C(12)	-0.006287	0.653269	-0.009624	0.9925
C(13)	7.753.011	2.484.987	3.119.940	0.0075
C(14)	0.288622	1.595.974	0.180844	0.8591
C(15)	-2.887.267	1.721.879	-1.676.812	0.1158
C(16)	6.060.141	1.753.744	3.455.545	0.0039
1C(17)	0.458341	0.714388	0.641586	0.5315
R-squared	0.884700	Mean dep	endent var	-0.645161
Adjusted R-squared	<mark>0</mark> .752929	S.D. dep	endent var	6.156.560
S.E. of regression	3.060.192	Akaike in	fo criterion	5.376.676
Sum squared resid	1.311.068	Schwarz	z criterion	6.163.057
Log likelihood	-6.633.849	Hannan-Q	Quinn criter.	5.633.017
F-statistic	6.713.924	Durbin-V	Watson stat	2.750.867
Prob(F-statistic)	0.000444			

Source: Processed Data

The estimation results of the VAR Equation DY (SCB Health Level) model in table 1. shows that the SCB Health Level variable in the first lag has a positive effect on SCB Health Level which is significant at 5% significance level of 0.554. This means that if there is an increase in the SCB Health Level by 1% in the previous period ie the first quarter, it will cause an increase in the current SCB Health Level by 0.55%. This shows that the increase in SCB Health Level was strongly influenced by the SCB Health Level in the previous period. The SCB Health Level variable in the second lag has a negative effect on SCB Health Level which is significant at 5% significance level of -0.365. This means that if there is an increase in SCB Health Level of 1% in the previous period, namely the second quarter, it will cause a decrease in the current SCB Health Level of -0.37%. This shows that the decrease in SCB Health Level was strongly influenced by the SCB Health Level in the previous period. The SCB Health Level variable in the fourth lag has a positive effect on SCB Health Level which is significant at 5% significance level of 1,549. This means that if there is an increase in SCB Health Level by 1% in the previous period, namely the fourth quarter, it will cause an increase in the current SCB Health Level by 1.55%. This shows that the increase in SCB Health Level was strongly influenced by the SCB Health Level in the previous period.

The remuneration variable of corporate governance structure in the first lag has a negative effect on SCB Health Level which is significant at 10% significance level of -6,611. This means that if there is an increase in corporate governance remuneration of 1% in the previous period, namely the first quarter, it will cause a decrease in the current SCB Health Level of - 6.61%. This shows that the decrease in SCB Health Level was strongly influenced by the remuneration of corporate governance in the previous period.

The variable of the frequency of corporate governance meetings in the third lag has a negative effect on SCB Health Level which is significant at the 10% level of -1.575. This means that if there is an increase in the frequency of corporate governance meetings by 1% in the previous period, namely the third quarter, it will cause a grease in the current SCB Health Level of-1.58%. This shows that the decrease in SCB Health Level is strongly influenced by the frequency of corporate governance meetings in the previous period.

The variable of number of members of corporate governance in the first lag has a positive effect on SCB Health Level which is significant at 5% significance level of 7,753. This means that if there is an increase in the number of members of corporate governance by 1% in the previous period, namely the first quarter, it will cause in the current SCB Health Level of 7.75%. This shows that the increase in SCB Health Level is strongly influenced by the number of members of corporate governance in the previous period.

The variable number of corporate governance members in the fourth lag has a positive effect on SCB Health Level which is significant at 5% significance level of 6,060. This means that if there is an increase in the number of members of corporate governance by 1% in the previous period, namely the first quarter, it will cause an increase in the current SCB Health Level of 6.06%. This shows that the increase in SCB Health Level is strongly influenced by the number of members of corporate governance in the previous period.

The f test showed a p-value of 0.000444 <0.05, so that all independent variables (SCB Health Level, number of corporate governance members, frequency of corporate governance meetings and corporate governance remuneration) together were able to explain variations in the SCB Health Level variable. Adjusted R-squard shows the number 0.752929 meaning free variable variation (SCB Health Level, number of members of corporate governance, frequency of corporate governance meetings and corporate governance remuneration) is able to explain 75.29% variation in the SCB Health Level variable, while the remaining 24.71% is explained by variables others that are not researched.

Table 2: Results of Estimation of the VAR Model DX3 Equation (Corporate Governance Remuneration)

(601	pt 6 atc Govern	nance Remai	ici dilion)	
	Coefficient	Std. Error	t-Statistic	Prob.
<u>C</u> (18)	0.028155	0.019947	1.411507	<mark>0</mark> .1799
C(19)	-0.000412	0.013424	-0.030667	<mark>0</mark> .9760
C(20)	0.024537	0.015763	1.556617	<mark>0</mark> .1419
C(21)	0.021584	0.024139	0.894152	0.3864
C(22)	-0.214007	0.263019	-0.813656	0.4295
C(23)	-0.083297	0.183895	-0.452956	0.6575
C(24)	-0.111781	0.211660	-0.528118	0.6057
C(25)	-0.604700	0.175187	-3.451748	0.0039
C(26)	-0.057587	0.065767	-0.875634	0.3960
C(27)	-0.063617	0.074151	-0.857949	0.4054
C(28)	-0.023491	0.065370	-0.359358	0.7247
C(29)	0.034592	0.052703	0.656366	0.5222
C(30)	0.227220	0.200478	1.133390	0.2761
C(31)	-0.047383	0.128756	-0.368007	0.7184
C(32)	-0.012840	0.138914	-0.092429	0.9277
C(33)	0.567303	0.141485	4.009647	0.0013
C(34)	0.056188	0.057634	0.974922	0.3461
R-squared	<mark>0</mark> .712469	Mean dep	endent var	-0.064516
Adjusted R-squared	0.383861	S.D. dep	endent var	1.263210
S.E. of regression	0.246883	Akaike in	fo criterion	3.236224
Sum squared resid	0.853319	Schwarz	z criterion	4.022604
Log likelihood	11.69834	Hannan-Q	Quinn criter.	3.492564
F-statistic	2.168145	Durbin-Watson stat 2.37		2.378085
Prob(F-statistic)	<mark>0</mark> .076409			

Source: Processed Data

The estimation results of the VAR Equation model DX3 (Corporate Go₂₅ mance Remuneration) in table 2 show that the corporate gov₂₅ ance remuneration variable in the fourth lag has a negative effect on corporate governance remuneration that is significant at the 5% level of -0.604. This means that if there is an increase in corporate governance remuneration of 1% in the previous period, namely the fourth quarter, it will cause a decrease in corporate governance remuneration at the time of -0.60%. This shows that the decrease in corporate governance remuneration was strongly influenced by the remuneration of corporate governance in the previous period.

The variable number of corporate governance members in the fourth lag has a positive effect on corporate governance remuneration that is significant at the 5% level of 0.567. This means that if there is an increase in the number of members of corporate governance by 1% in the previous period, namely the fourth quarter, it will cause an increase in corporate governance governance remuneration is strongly influenced by the number of members of corporate governance in the previous period.

12

The f test should a p-value of 0.076409 <0.10, so that all independent variables (SCB Health Level, number of members of corporate governance, frequency of corporate governance meetings and corporate governance remuneration) together were able to explain variations in the variable of corporate governance remuneration. Adjusted R-squared shows the number 0.383861 means that free variable variation (SCB Health Level, number of members of corporate governance, number of corporate governance meetings and corporate governance remuneration) is able to explain 38.39% of variable variations in corporate governance remuneration, while the remaining 61.61% is explained by variables others that are not researched.

Table 3: Results of Estimation of the VAR Model DX2 Equation (Frequency of Corporate Governance Meetings)

	6 Coefficient	Std. Error	t-Statistic	Prob.
C(35)	- <mark>0</mark> .028608	0.084788	-0.337402	0.7408
C(36)	0.055710	0.057061	0.976331	0.3455
C(37)	- <mark>0</mark> .001139	0.067003	-0.017001	0.9867
C(38)	- <mark>0</mark> .040696	0.102608	-0.396614	0.6976
C(39)	0.464954	1.118022	0.415872	0.6838
C(40)	-0.982579	0.781690	-1.256993	0.2293
C(41)	0.187132	0.899708	0.207992	0.8382
C(42)	2.024825	0.744671	2.719086	0.0166
C(43)	-0.424268	0.279556	-1.517650	0.1514
C(44)	0.051448	0.315194	0.163227	0.8727
C(45)	-0.244642	0.277869	-0.880423	0.3935
C(46)	-0.411559	0.224026	-1.837104	0.0875
C(47)	-0.358006	0.852179	-0.420107	0.6808
C(48)	0.271825	0.547309	0.496657	0.6271
C(49)	0.236609	0.590485	0.400702	0.6947
C(50)	0.654326	0.601413	1.087982	0.2950
1C(51)	-0.259395	0.244986	-1.058816	0.3076
R-squared	0.677918	Mean dep	endent var	-0.064516
Adjusted R-squared	0.309825	S.D. depe	endent var	1.263210
S.E. of regression	1.049434	Akaike int	fo criterion	3.236224
Sum squared resid	15.41837	Schwarz	criterion	4.022604
Log likelihood	-33.16147	Hannan-Q	uinn criter.	3.492564
F-statistic	1.841701	Durbin-W	Vatson stat	2.378085
Prob(F-statistic)	0.128681			C P

Source: Processed Data

The estimation results of the VAR Equation model DX2 (Frequency of Corporate Gover 52 ce Meetings) in table 3. show that the remuneration variable of corporate governance in the fourth lag has a positive effect on the frequency of corporate governance meetings which is significant at the 5% level of 2.0248. This means that if there is an increase in corporate governance remuneration of 1% in the previous period, namely the fourth quarter, it will

cause an increase in the frequency of corporate governance meeting 3 pday by 2.03%. This shows that the increase in the frequency of corporate governance meetings was strongly influenced by the remuneration of corporate governance in the previous period.

The variable of frequency of corporate governance meetings in the fourth lag has a negative effect on the frequency of corporate governance meetings which is significant at 10% significance level of -0.4115. This means that if there is an increase in the frequency of corporate governance meetings by 1% in the previous period, namely a fourth quarter, it will cause a decrease in the frequency of corporate governance meetings doday by -0.41%. This shows that the decrease in the frequency of corporate governance meetings was strongly influenced by the frequency of corporate governance meetings in the previous period.

The f test shows a p-value of 0.128681> 0.05, so that all independent variables (SCB Health Level, number of members of corporate governance, frequency of corporate governance meetings and corporate governance remuneration) together are unable to explain variations in the variable frequency of corporate governance meetings.

Table 4: Results of Estimation of the VAR Model DX1 Equation (Number of Corporate Governance Members)

(Number of Corporate Governance Members)				
	6 Coefficient	Std. Error	t-Statistic	Prob.
C(52)	-0.062228	0.038369	-1.621821	0.1271
C(53)	0.021493	0.025822	0.832353	0.4192
C(54)	-0.049631	0.030321	-1.636864	0.1239
C(55)	-0.122871	0.046433	-2.646164	0.0192
C(56)	0.744216	0.505940	1.470956	0.1634
C(57)	-0.069006	0.353739	-0.195076	0.8481
C(58)	0.267964	0.407146	0.658152	0.5211
C(59)	-0.251188	0.336987	-0.745393	0.4684
C(60)	0.201925	0.126508	1.596147	0.1328
C(61)	0.096316	0.142635	0.675258	0.5105
C(62)	0.016070	0.125744	0.127799	0.9001
C(63)	-0.188075	0.101379	-1.855170	0.0847
C(64)	-0.706569	0.385638	-1.832208	0.0883
C(65)	0.310545	0.247674	1.253845	0.2304
C(66)	0.251972	0.267213	0.942963	0.3617
C(67)	0.246541	0.272158	0.905872	0.3803
C(68)	-0.151441	0.110864	-1.366007	0.1935
R-squared	0.605319	Mean depo	endent var	0.000000
Adjusted R-squared	0.154255	S.D. depe	ndent var	0.516398
S.E. of regression	0.474902	Akaike inf	o criterion	1.650428
Sum squared resid	3.157448	Schwarz	criterion	2.436808
Log likelihood	-8.581637	Hannan-Q	uinn criter.	1.906768
F-statistic	1.341980	Durbin-W	atson stat	2.211190
Prob(F-statistic)	0.293029			

Source: Processed Data

The estimation results of the VAR model DX1 equation (Number 5 Corporate Governance Members) in table 4. show that the SCB Health 25 el variable in the fourth lag has a negative effect on the number of corporate governance members that is significant at the 5% level of -0.1228. This means that if 19 ere is an increase in SCB Health Level of 1% in the previous period, namely the 13 urth quarter, it will cause a decrease in the number of members of corporate governance at present by -0.12%. This shows that the decrease in the number of members of corporate governance was strongly influenced by the SCB Health Level in the previous period.

The variable frequency of corporate governance meetings in the fourth lag has a negative effect on the number of members of corporate governance that is significant at the 10% level of -0.1880. This means that if there is an increase in the gequency of corporate governance meetings by 1% in the previous period, namely the fourth quarter, it will cause a decrease in the number of gembers of corporate governance currently by -0.19%. This shows that the decrease in the number of members of corporate governance is strongly influenced by the frequency of corporate governance meetings in the previous period.

The variable number of corporate governance members in the first lag has a negative effect on the sumber of members of corporate governance that is significant at the 10% level of -0.706. This means that if there is an increase in the 19 mber of members of corporate governance by 1% in the previous period, namely the structure, it will cause a decrease in the number of members of corporate governance governance governance of members of corporate governance is strongly influenced by the number of members of corporate governance in the previous period.

The f test shows p-value 0.293029> 0.05, so that all independent variables (SCB Health Level, number of corporate governance members, frequency of corporate governance meetings and corporate governance remuneration) together are unable to explain variations in the variable number of corporate governance members.

V. CONCLUSION

76

The number of members of corporate governance, the frequency of corporate governance meetings and corporate governance remuneration affect the Health Level of Islamic banks and vice 14 rsa Health Level of Islamic banks affect the number of members of Corporate Governance and Health Level of Islamic banks.

The number of members of corporate governance affects the remuneration of corporate governance and the number of members of corporate governance. While the frequency of corporate governance meetings affect the number of members of corporate governance and the frequency of corporate governance meetings. And corporate governance remuneration affects the frequency of corporate governance meetings and corporate governance remuneration.

Together with the number of members of corporate governance, the frequency of corporate governance meetings, remuneration of 35 rporate governance and the Health Level of Islamic banks can only be able to explain the remuneration of corporate governance and the Health Level of Islamic banks.

REFERENCES

- [1] Abdullah, S. N. (2006). Directors' Remuneration, Firm's Performance and Corporate Governance in Malaysia among Distressed Companies. Corporate Governance: The International Journal of SCBiness in Society, 6 (2), 162-174.
- [2] Adams, R. B, dan H. Mehran. (2012). Bank board structure and performance: Evidence for large bank holding companies. Journal Finance Intermediation 21 (2): 243-267.
- [3] Adithipyangkul, et. al. (2009). "Executive Perks: Compensation and Corporate Performance in China", Springer Science SCBiness Media, pp. 401-425.
- [4] Adusei, . (2011), "Board structure and bank performance in Ghana", Journal of Money Investmentand Banking, Vol. 19 No. 1, h. 72-84.
- [5] Agustina, M & Christiawan, YJ. (2015). "Pengaruh Good Corporate Governanceterhadap Kinerja Perusahaan pada Sektor Keuangan", SCBiness Accounting Review, Vol. 3, No. 1, pp. 223-232.
- [6] Ahmed and Wang. (2012). Effects of Corporate Governance on Capital Structure: Empirical Evidence from Pakistan. Corporate Governance, Vol. 12 iss: 5, pp.629-641
- [7] Akpan, Edem Okon dan Noor Afza Amran. (2014). *Board Characteristics and Company Performance: Evidence From Nigeria. Journal of Finance and Accounting*. 2(3). 81-89.
- [8] Al-Najjar, B. (2011). The Determinants Of Audit Committee Independence and Activity: EvidenceFrom The UK. "International Journal of Auditing", Vol. 15 No. 2, pp. 191-203.
- [9] Awuor, M. M. (2012). The Relationship between Director Remuneration and Performance of Firms Listed in the Nairobi Securities Exchange. Working Paper, University of Nairobi
- [10] Ayorinde, A. O., Toyin, A. & Leye, A. (2012). Evaluating the Effects of Corporate Governance on the Performance of Nigerian Banking Sector. Review of Contemporary SCBiness Research, 1(1), 32–42.
- [11] Bebeji, Aminu. Aisha Mohammed dan Muhammad Tanko. (2015). The Effect of Board Size and Composition on The Financial Performance of Bank in Nigeria. African Journal of SCBiness Management. 9(16). 590-598.
- [12] Bhatti, M. and Bhatti, I. (2010), "Toward understanding Islamic corporate governance issues in Islamic finance", Asian Politics and Policy, Vol. 2 No. 2, pp. 25-38.
- [13] Bulan dan Yuyetta, (2014). Pengaruh Corporate Governance Terhadap Capital Structure: Studi pada Persahaan Manufaktur yang Terdaftar di Bursa Efek Indonesia). Diponegoro Journal of Accounting, Vol.3; No.2.
- [14] Chang, B., & Dutta, S. (2012). Dividends and Corporate Governance: Canadian evidence. *IUP Journal of Applied Finance*, 18(4), 5–30.
- [15] Chen, K. Y & Zhou, J. (2007). Audit Committee, Board Characteristics and Auditor Switch Decisions by Anderson's Clients. Contemporary Accounting Research, 24 (4): 1085-1117
- [16] Cornett, M. M., McNutt, J. J., and Tehranian, H. 2009. Corporate Governance and Earnings Management at Large U.S. Bank Holdings Companies. Journal of Corporate Finance. 15: 412-430.

- [17] Cotter, J., and Silvester, M. (2003). oard and Monitoring Committee Independence, Abacus, 39 (2): 211-232.
- [18] Endraswati, Hikmah. (2017). Struktur Islamic Corporate Governance dan Kualitas Pengungkapan Laporan Keuangan Pada Bank Syariah Di Indonesia Perspektif Governance dan Finance. Salatiga: LP2M press
- [19] Fauzi, Fitriya Dan Stuart Locke, (2012), Board Structure, Ownership Structure and Firm Performance: A Study of New Zealand Listed-Firms, Asian Academy of Management Journal of Accounting and Finance, Asian Academy of Management Journal of Accounting and Finance, Vol. 8(2), 43-67.
- [20] Gul, Sajid, Muhammad Sajid and Nasir Razzaq. (2012). Agency Cost, Corporate Governance and Ownership Structure (The Case of Pakistan). International Journal of SCBiness and Social Science, 3(9), pp. 268-277.
- [21] Helena, Savera dan Muhammad Saifi. (2018). Pengaruh Corporate Governance Terhadap Financial Distress. Jurnal Administrasi Bisnis (JAB) Vol. 60 No. 2
- [22] Horvath, Roman dan Persida Spirollari. (2012). Do The Board of Director's Characteristics Influence Firm's Performance? The US Evidence. Prague Economic Paper. Vol 4. 470-486.
- [23] Hoque, M. Z., M. R. Islam, dan H. Ahmed. (2012). Corporate governance and bank performance: case in Bangladesh. Available from: Social ScienceResearch Network http://papers.ssrn.com/sol3/papers.cfm ?abstract_id=2208903, 1-37.
- [24] Ibrahim, H., & Samad, F. A. (2011, February). Corporate Governance Mechanism and Performance of Public-Listed Family-Ownership in Malaysia. International Journal of Economics and Finance 3(1), 13-27
- [25] Jensen, M., C & Meckling, W. H. (1976). Theory of the Firm: Managerial Behaviour, Agency Cost and Ownership Structure. Journal of Financial Economics, 3: 82-136.
- [26] Johl, Satirenjit Kaur. Shireenjit Kaur dan Barry J Cooper. (2015). Board Characteristics and Firm Performance: Evidence from Malaysian Publick Listed Firms. Journal of Economics SCBiness and Management. 3(2). 239-243.
- [27] Kajananthan, Rajendran. (2012). Effect of Corporate Governance on Capital Structure: Case of The Srilankan Listed Manufacturing Companies. Journal of Arts, Science & Commerce Vol-III, Issue-4.
- [28] Kakabadse, N. K., A. Kakabadse, and A. Kouzmin. (2004). *Directors' Remuneration: The Need for a Geo-Political Perspective. Personnel Review*, 33 (5), 561-582.
- [29] Khalid, Sania dan Mobeen Ur Rehman. (2014). Impact of Director's Remueration on Financial Performance of a Firm. International Journal of Information, SCBiness and Management. 6(1). 180-196.
- [30] Kusuma, H., & Ayumardani, A. (2016). The corporate governance efficiency and Islamic bank performance: an Indonesian evidence. Polish Journal of Management Studies, 13(1), 111-120.
- [31] Laporan Perkembangan Keuangan Syariah (2016). Otoritas Jasa Keuangan, 64.
- [32] Mollah, S, & M. Zaman. 2015. Shariah Supervision, Corporate Governance, And Performance: Conventional vs Islamic Banks. Journal of Banking and Finance, Vol. 58:418-435.
- [33] Muttakin, M. B, & M. S. Ullah. (2012). Corporate governance and bank perfomance: Evidence from Bangladesh. Corporate Board: Role, Duties & Composition 8 (1): 62-68

- [34] Monks, R.A.G and N. Minow, (2001), "Corporate Governance, 2nd ed". Blackwell Publishing.
- [35] Naveed Ahmad, Muhammad Sulaman Tariq, Naqvi Hamad, Sadia Samad. (2014). An Exploration Of Corporate Governance and Its Relation with Financial Performance: A Case Study From Banking Institution Of Pakistan. Arabian Journal of SCBiness and Management Review (OMAN Chapter). Vol. 4, No.1; August. 2012
- [36] Ni Nyoman Tri Sariri Muryati & I Made Sadha Suardikha. (2014). "Pengaruh Corporate Governancepada Nilai Perusahaan". Jurnal Akuntansi Universitas UdayanaVol.9 No.2 Hal 411-429
- [37] Ntim, Collins G dan Kofi A Osei. (2011). The Impact of Corporate Board Meetings on Corporate performance in South Africa. African Review of Economics and Finance. 2(2). 83-103.
- [38] Otoritas Jasa Keuangan (2010–2018). Islamic Banking Statistics, Financial Services Authority, Republik of Indonesia, Bank Licensing and Banking Information Department, Retrieved from: http://www.ojk.go.id.
- [39] Peni Nugraheni dan Rahma Dwi Yuliani. (2016). Mekanisme Corporate Governance dan Pengungkapan Islamic Social Reporting pada Perbankan Syariah di Indonesia dan Malaysia. Jurnal Kajian Ekonomi dan Bisnis IQTISHADIA Volume 10 Nomor 1 2017 ISSN: 2502-3993
- [40] Peraturan Otoritas Jasa Keuangan No. 45/POJK.03/2015 tentang Penerapan Tata Kelola dalam Pemberian Remunerasi bagi Bank Umum
- [41] Peraturan Otoritas Jasa Keuangan No.8/PJOK.03/2014 tentang penilaian kesehatan bank umum syariah dan unit usaha syariah
- [42] Permana, Susmita, (2013), Pengaruh Karakteristik Dewan Komisaris Terhadap Kinerja Keuangan Perusahaan Go Public Indonesia, Tesis, Universitas Bung Hatta
- [43] Purno, Bambang Listyo & Khafid, Muhammad, (2013), Pengaruh Mekanisme Good Corporate Governance terhadap Kinerja Perbankan, Kumpulan Makalah Simposium Nasional Akuntansi XVI, Manado.
- [44] Rahman, Azhar Abdul & Bukhair Abdullah A. (2013). The Influence of the Shariah Supervision Board on Corporate Social Responsibility Disclosure by Islamic Banks of Gulf Co-Operation Council Countries Asian. Journal of SCBiness and Accounting, 6(2).
- [45] Rehman, A., & Shah, S. Z. (2013, July). Board Independence, Ownership Structure and Firm Performance: Evidence from Pakistan. Interdisciplinary Journal Of Contemporary Research In SCBiness, 5(3), 832-835. Retrieved from ijcrb.webs.com
- [46] Ruparelia, R. and A. Njuguna. (2016). Relationship between Board Remuneration and Financial Performance in the Kenyan Financial Services Industry. International Journal of Financial Research, 7 (2), 247-255.
- [47] Shukeri, Situ Norwahida, Ong Wei Shin dan Mohd Shahidan Shaari. 2012. Does Board of Director's Characteristics Affect Firm Performance? Evidence From Malaysian Public Listed Companies. International SCBiness Research. 5(9). 120-127.
- [48] Shahzad, Farrukh, dkk. (2015). Corporate Governancee Impact on Firm Perofmance: Evidance from Cement Industry of Pakistan. Vol: 90

- [49] Suryanto, T. (2017). Manajemen Laba Pada Bank Syariah Di Indonesia: Peran Komite Audit Dan Dewan Pengawas Syariah.
- [50] Teg, Wayan T dan Wiwik Utami. (2013). Pengaruh Gender Diversity dan Remunerasi Direksi terhadap Kinerja Perusahaan di Bursa Efek Indonesia
- [51] Thi, D.T. (2011) Corporate Governance Empirical Research on Board Size, Board Composition, Board Activity, Ownership Concentration and Their Effects on Performance Of Vietnamese Listed Companies. Master Thesis in SCBiness Administration University of Boras, 2-49.
- [52] Turnbull, S. (1997). Corporate governance: Its scope, concerns and theories. Corporate Governance: An International Review, 5(4), 180-205.
- [53] Utami (2017) Kinerja dan Kompensasi Masa Depan di Bank Syariah dan Konvensional" Jurnal Akuntansi dan Keuangan Islam Vol. 5, No. 1 (April 2017)
- [54] Uwuigbe, O.R. & Fakile, A.S., (2012), The effects of board size on financial performance ofbanks: A study of listed banks in Nigeria, International Journal of Economics and Finance, 4(2), 260-267
- [55] Velnampy, T. (2013). Corporate governance and firm performance: a study of Sri Lankan manufacturing companies.
- [56] Yegon, Charles, Jane Sang and Joseph Kirui. (2014). The Impact of Corporate Governance on Agency Cost: Empirical Analysis of Quoted Services Firms in Kenya. Research Journal of Finance and Accounting, 5(12), pp: 145-154.
- [57] Yusvita Nena (2018) "Arinta Pengaruh Corporate Gorvenance Islam terhadap Tax Avoidance" Jurnal Bisnis dan Manajemen Islam, Vol. 6 No. 2

THE EFFECT OF CORPORATE GOVERNANCE ON THE HEALTH OF SHARIA BANKS WITH DYNAMIC MODELS

ORIGIN	ALITY REPORT			
	0% ARITY INDEX	21% INTERNET SOURCES	12% PUBLICATIONS	22% STUDENT PAPERS
PRIMAR	Y SOURCES			
1	www.scrib Internet Source	d.com		3%
2	upperline.i	d		2%
3	businessp Internet Source	erspectives.org	J	1%
4	collections Internet Source	.plymouth.ac.u	k	1%
5	link.spring	er.com		1%
6	www.paho	o.org		1%
7	www.bank Internet Source	muamalat.co.id	d	1%
8	docplayer. Internet Source	net		1%

Dr. Kosim. "LAW POLITICS IN SHARIA

_	PERSPECTIVE", Humanities & Social Sciences Reviews, 2019 Publication	1%
10	www.banksinarmas.com Internet Source	1%
11	tijoss.com Internet Source	1%
12	digilib.uin-suka.ac.id Internet Source	1%
13	eprints.hud.ac.uk Internet Source	1%
14	Submitted to iGroup Student Paper	<1%
15	Submitted to Politeknik Negeri Bandung Student Paper	<1%
16	Submitted to University of Durham Student Paper	<1%
17	www.ukessays.com Internet Source	<1%
18	phapros.co.id Internet Source	<1%
19	Submitted to SUNY, New Paltz Student Paper	<1%

20	Internet Source	<1%
21	ponderingislam.com Internet Source	<1%
22	Submitted to Taylor's Education Group Student Paper	<1%
23	Submitted to International Islamic University Malaysia Student Paper	<1%
24	Submitted to STIE Perbanas Surabaya Student Paper	<1%
25	Submitted to Xianjiatong-Liverpool University Student Paper	<1%
26	Submitted to University of Birmingham Student Paper	<1%
27	Nooraisah Katmon, Zam Zuriyati Mohamad, Norlia Mat Norwani, Omar Al Farooque. "Comprehensive Board Diversity and Quality of Corporate Social Responsibility Disclosure: Evidence from an Emerging Market", Journal of Business Ethics, 2017	<1%
28	www.totalbp.com Internet Source	<1%

29	Student Paper	<1%
30	Submitted to Cardiff University Student Paper	<1%
31	Submitted to Sriwijaya University Student Paper	<1%
32	Submitted to Queen's University of Belfast Student Paper	<1%
33	citeseerx.ist.psu.edu Internet Source	<1%
34	Abdalmuttaleb Musleh Alsartawi. "Performance of Islamic banks", ISRA International Journal of Islamic Finance, 2019 Publication	<1%
35	Ahmad Nurkhin, Abdul Rohman, Ahmad Rofiq, Hasan Mukhibad. "The role of the Sharia Supervisory Board and corporate governance mechanisms in enhancing Islamic performance – evidence from Indonesia", Banks and Bank Systems, 2018 Publication	<1%
36	pdfs.semanticscholar.org Internet Source	<1%
37	vuir.vu.edu.au Internet Source	<1%

38	Darwanto, Anis Chariri. "Corporate governance and financial performance in Islamic banks: the role of the sharia supervisory board in multiple-layer management", Banks and Bank Systems, 2019 Publication	<1%
39	Submitted to University of Salford Student Paper	<1%
40	kups.ub.uni-koeln.de Internet Source	<1%
41	polychemindo.com Internet Source	<1%
42	av.sc.com Internet Source	<1%
43	Andrew Kakabadse, Nada Kakabadse. "The Geopolitics of Governance", Springer Science and Business Media LLC, 2001 Publication	<1%
44	Peni Nugraheni, Erlinda Nur Khasanah. "Implementation of the AAOIFI index on CSR disclosure in Indonesian Islamic banks", Journal of Financial Reporting and Accounting, 2019 Publication	<1%
45	Submitted to Fakultas Ekonomi Universitas Indonesia Student Paper	<1%

46	lawblog.usfca.edu Internet Source	<1%
47	european-science.com Internet Source	<1%
48	es.scribd.com Internet Source	<1%
49	Submitted to CVC Nigeria Consortium Student Paper	<1%
50	Hassan Hafez. "Corporate social responsibility and firm value: an empirical study of an emerging economy", Journal of Governance and Regulation, 2016 Publication	<1%
51	Masudul Alam Choudhury. "Absolute Reality in the Qur'an", Springer Science and Business Media LLC, 2016 Publication	<1%
52	Submitted to Universitas Diponegoro Student Paper	<1%
53	www.journalofeconomicstructures.com Internet Source	<1%
54	www.neliti.com Internet Source	<1%
55	www.syariahbukopin.co.id Internet Source	<1%

56	Submitted to University of Hull Student Paper	<1%
57	centaur.reading.ac.uk Internet Source	<1%
58	www.researchsquare.com Internet Source	<1%
59	eprints.usq.edu.au Internet Source	<1%
60	Submitted to Universiti Sultan Zainal Abidin Student Paper	<1%
61	etheses.dur.ac.uk Internet Source	<1%
62	www.gsmi-ijgb.com Internet Source	<1%
63	ojs.unud.ac.id Internet Source	<1%
64	oapub.org Internet Source	<1%
65	Submitted to Curtin University of Technology Student Paper	<1%
66	Submitted to President University Student Paper	<1%

journal.uinjkt.ac.id

Nurkhin, Prabowo Yudo Jayanto. "Can Social Performance Improve Financial Performance and Increase Customers' Trust?", International

Journal of Financial Research, 2019

Publication

75	Submitted to University of Bradford Student Paper	<1%
76	Submitted to University of Exeter Student Paper	<1%
77	Mohamed A.K. Basuony, Ehab K.A. Mohamed, Khaled Samaha. "Board structure and corporate disclosure via social media: an empirical study in the UK", Online Information Review, 2018 Publication	<1%
78	Submitted to University of Derby Student Paper	<1%
79	Submitted to Victoria University Student Paper	<1%
80	Submitted to University of Northampton Student Paper	<1%
81	Submitted to Open University of Mauritius Student Paper	<1%
82	Submitted to University of Huddersfield Student Paper	<1%
83	"How to Make Boards Work", Springer Science and Business Media LLC, 2013 Publication	<1%

Submitted to Napier University

84	Student Paper	<1%
85	Submitted to European Business School London, Regent's College Student Paper	<1%
86	Submitted to Universitas Andalas Student Paper	<1%
87	Submitted to Lebanese American University Student Paper	<1%
88	Salim Darmadi. "Corporate governance disclosure in the annual report", Humanomics, 2013 Publication	<1%
89	Submitted to UIN Syarif Hidayatullah Jakarta Student Paper	<1%
90	Submitted to Universitas Muhammadiyah Surakarta Student Paper	<1%

Exclude quotes Off
Exclude bibliography On

Exclude matches

Off